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90 people each exercised for 30 minutes. Each person’s
recovery time was measured. The results are summarised

in this table.

Recovery time Number of people
(m minutes)
O<m<4 2
4<m=<38 7
8<m<=<12 29

12 <m <16 26

16 <m < 20 16

20 < m < 24 10

"
Calculate an estimate of the mean recovery time.

20840
= 3-422222..

- 342

[3'14-?— minutes (4)

Write down the modal class.

8< m < 12 (1)
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Caleb measured the heights of 30 plants. The table gives
some information about the heights, h cm, of the plants.

Helghl;clélz]tcsm) of | Frequency m(& {x I\/\
0<h<10 2 x 5 / T D
10 < h <20 8 * @/ + 190
20 < h < 30 9 % é5 : 90§
30 < h <40 7 ;K/35 £ 215
40 < h < 50 4 VLS 2 180

€e “3g80

Work out an estimate for the mean height of the plants.

72030

:%ﬂ
(4)
In which class interval does the median lie?
20< h $20
(1)
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The table shows some information about the weight, in
grams of 60 eggs.

Weight (w Frequency

grams) of plants M /

0 <w < 30 0 x5/ O
30 < w < 50 14 4 4@/ = 50
50 < w < 60 16 X ?é * &KO
60 <w < 70 21 | /65 + 1245
70 < w < 100 9 ></ 5 + L5

=) 3330

Calculate an estimate for the mean weight of an eggqg.

=30+ 60 - é/cl/-_fég

(4)
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